KENDRIYA VIDYALAYA BHU VARANASI
MT- SEPT(2024-25) SUBJECT - SOCIOLOGY CLASS- XI

Time: 90 MIN. M.M. : 40
General Instructions:-

1. Section-A question no. 1-10 are MCQ type questions. All question carrying 1 mark each.

2. Section-B includes question 11-16. These are short answer type questions carrying 2 marks each.
Answer to each question should be at least 50 words.

3. Section -C includes question 17-19. They are long answer type questions carrying 5 marks each.
Answer to each question should be at least 250 words.

4. Section- D includes questions 20. These question are divided into 3 (a,b and c) parts. Question no20

is to be answered with the help of the passage given.
SECTION-A

Q.1 Sociology focuses on-
(@) Animals behavior  (b) Environment (c) Interactions between individuals (d) Peace and Conflict
THATSRIE 3T dhiegd Tl § -
A- 99 gagR  B-9dTeRoT C- safaadi & & 3id:fransit D- enfay 3 ded
Q.2 The basis of a caste system is —
(a) Ascribed status (b) Achieved status  (c) Power (d) Weath
Sfa sgaedr 3maiid § - A- Yaod gfieafa B- 3ifcia wfeufa C- afed D- &=
Q.3 What was the driving force behind the growth of industrial production ?
(a) Socialism (b) Capitalism (c) Liberalism (d) None
e 3carg & e & NS 9 afFa F=a1 & - A- FATSEE B- Yolag C- 3gRamG D- HI1$ #8r
Q.4 Education isa—
(@) A life long Process (b) Formal education (c) A short time Process (d) None of these
e & -A-Shtaed w=a gfar B- 3ilvamRe Rew C- reusifas ufehar D- 1S =g
Q.5 Family marriage and kinship is —
(@) Organization (b) Social Group  (c) Community (d) Social institutions
aRar, faarg 3R ATderY § - A-Hered B- ArAfSis HHg C- GHC D-GTATGS Fear
Q.6 What is the most prevalent form of stratification in modern society?
(a) Caste system  (b) Class division  (c) Marriage (d) Rituals
3megfereh FATST H FAIHROT & Falidsh Tafad ¥ § - A- Sifd gaedr B- 97 fqefrsier C- fadrg D- H#his
Q.7 Custom is example of . (a) Formal social control (b) Legal codes (c) Informal social control (d)
None of these
A- 3qarie arfee @aaer B- duifae dfgde  C- 3Eldaiies amfeie T30 D- 508 & &I «1gf
Q.8 In which family many wives live with one husband.
(a) Polygamous family  (b) polyandrous family  (c) Matrilocal family (d) Patrilocal family
fra afar & & afd & &5 gfcaar war € -
A-SETH IRAR B- §gIfd IRGR C- ATgEafaish qRar D- fqeaas aRar
Q.9 Who classified culture into material and non material cultures-
(a) Morgen (b) weber (c) Ogburn (d) Sorokin
TEpid & #ifde 3R siifces depfadl & fhaer goffera foar -
A- AT B- 38R C- 3WTEsT D- IRIfheT
Q.10......... is s group of people which has a define territory.
(a) State  (b) City  (c) Country (d) Family
............ ST T Teh g & Toreh are e fAfRuc 7 s1men/ &l gier ¥ -
A- 5T B- @X C- ¢2r D- 9RaR




SECTION-B
Q.11 What do you mean by Cultural change ? @i€spfas aRade & 319 1 FHSIA § ?

Q.12 How does sociology study religion ? TATSIIRET €3 &7 3ETTT HH AT & ?
Q.13 Explain the type of kinship ? aTdeRl & Y&RI HT sarear Hifad ?

Q.14 What is division of Labour ? %37 &1 fasmeia &1 & ?

Q.15 What do you mean by Endogamy and Exogamy marriage ?

Jia:faag 3R sifdare & 39«91 gasa § 2

Q.16 What are the differences between Great Tradition and Little Tradition ?

gee, Wl 3R g Wy # F4r 3R § 2

SECTION-C
Q.17 Define Culture? How many types of culture are there according to Ogburn? Explain in details.
HER{ I IR RIS ? T & TR TEPIA el FhR HT glar 82 faega & saredn Hifed |
Q.18 What do you understand by Socialization ? Explain its various agencies.
HATSTROT ¥ AT FIT THST ¢ ? 3P [A[HeaT IFTAAOT I sarear o |
Q.19 What is marriage ? Explain the different types of Hindu marriage ?
faarg &1 & ? oeq faare & fafdiee JehRi @ sarear Hie |
SECTION-D
Note - Read the passage given and answer following questions-

Q-20 Gandhi on machinery in Hind Swaraj 1924. “ What | object to is the craze for machinery not

machinery as such. The craze is for what they call never saving machinery. Men go on ‘saving

labour' till thousands are without work and thrown on the open Streets to die of starvation. | want

to save time and Labour, not for a fraction of mankind, but for all. | want the concentration for

wealth, not in the hands for the few, but in hands for all.”

1934: “When as a nation we adopt the spinning- wheel, we not only solve the question of

unemployment but we declared that we have no intention of exploitation any Nation, and we also

end the exploitation of the poor by the rich.”

(a)What things did Gandhiji oppose?

(b)Give an example of how machinery creates a problem for workers?

(c) How does adopting the spinning- wheel prevent exploitation?

Note- 4T 37T 3iTeae @1 Ug 3N & U 1w et & 3ol Qe

fee Taxrst # anefish R AMA 1924:F AMAT F 9fd qraTera=t F1 QO g, Afhad AMAT 1 ANH 38 FeTohonr

el § ST AT T HABIAT &l AT 47 @ TO= & TIT ATGU I A FA ST SAdih oIkl Holgll &l o=

A & Gl W G ¥ ALelch ToIv Hehel f&TT STUIH FAT 3R ASIGY Sl T =T drgan é\lHlddcllf(:l F EsaT

& fov =gl dfcsh ahfaw | # Fulca # $o gl # Higd 7€ g1 o =g, 9fesh 30 Faeh gral & WA =g
|

§1934-WwéﬁmﬁEHBHWaﬁmﬁ%aTaﬁamaﬂmaﬁrwwmﬁmmﬁ%a%

Tg off O v & 5 gy fonely oft Tsg o1 ooT aer i sTeT AET &, 3R &F 3ERT Rt et & efwor

#ff FATCT T TR & |

(a) el St forey et o1 favrer e & 2

(b)3CTEXTT GaRT §dsT foF 7efier fohe aRE FFeRT & fow Faear dar aid g7

(C)TRG FT YA & MYUT I HY AT AT el &7




